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1. Determine all values of the bi that make the linear system
{

6x1 + 9x2 = b1

8x1 + 13x2 = b2
consistent.

Answer: □ the linear system is always inconsistent.
□✓ the linear system is consistent when the bi satisfy for all kind of bi ∈ R .[

6 9 b1
8 13 b2

]
∼

[
6 9 b1
0 1 b2 − 4

3
b1

]
Therefore, we know the coefficient matrix can be row-reduced to the identity matrix. Hence,
the linear system

2. (a) Find the inverse of the matrix A, if it exists, and (b) express the inverse matrix as a

product of elementary matrices. A =

[
6 9
8 13

]
Answer: (a) A−1 =

[
13
6

−3
2

−4
3

1

]
, (b) A−1 =

[
1/6 0
0 1

] [
1 −9
0 1

] [
1 0

−4/3 1

]

page 1 of 1


